
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.149 × ________ = 101.49 8.992 × ________ = 899.2

5.333 × ________ = 53.33 7.107 × ________ = 71.07

6.731 × ________ = 673.1 4.85 × ________ = 48.5

7.268 × ________ = 72.68 3.889 × ________ = 3889

3.466 × ________ = 34.66 9.744 × ________ = 9744

7.309 × ________ = 730.9 5.392 × ________ = 539.2

9.604 × ________ = 960.4 1.645 × ________ = 164.5

1.305 × ________ = 1305 3.908 × ________ = 3908

4.75 × ________ = 475 5.76 × ________ = 57.6

2.268 × ________ = 2268 9.241 × ________ = 9241
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.149 × 10 = 101.49 8.992 × 100 = 899.2

5.333 × 10 = 53.33 7.107 × 10 = 71.07

6.731 × 100 = 673.1 4.85 × 10 = 48.5

7.268 × 10 = 72.68 3.889 × 1000 = 3889

3.466 × 10 = 34.66 9.744 × 1000 = 9744

7.309 × 100 = 730.9 5.392 × 100 = 539.2

9.604 × 100 = 960.4 1.645 × 100 = 164.5

1.305 × 1000 = 1305 3.908 × 1000 = 3908

4.75 × 100 = 475 5.76 × 10 = 57.6

2.268 × 1000 = 2268 9.241 × 1000 = 9241
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